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QUESTION 1

Which list shows valid report types when creating a new report in the Report Manager?
A. Report, Chart, Plot

B. Chart, Plot, Summary

C. Report, Plot, Summary

D. Report, Chart, Summary

Correct Answer: D

QUESTION 2

An existing portal must be modified so that a new navigation collection will display in the portal. Assuming that a
navigation collection of type Quick Links exists and is populated with navigation items, what additional new element
must be created to display this collection in the existing portal?

A. Portal

B. Portal Section

C. Navigation Item

D. Navigation Collection

Correct Answer: B

QUESTION 3

Which three options are inherited from the BASE business object (BO)? (Choose three.)
A. Form

B. Fields

C. Description

D. BO Mapping

E. State Family

F. Associations

Correct Answer: BEF

QUESTION 4
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The Workflow Instance tab of a form is not available at runtime. What should be done to make this tab visible?
A. Configure the Show Workflow Instance setting in Form Builder

B. Configure the Include Workflow Instance Tab setting in Data Modeler

C. Configure the Visible setting in the Workflow Instance tab in Form Builder

D. Configure the Visible setting in the Workflow Instance tab in the pre-load workflow

Correct Answer: A

QUESTION 5

A state transition is not supposed to be available as a clickable action in a form at runtime but it appears anyway. Why?
A. The state transition is not configured to be excluded in the Sub Action properties.

B. The Hidden Action property is not configured correctly in the State Transition properties.

C. The Default Display property is not configured to be excluded in the Sub Action properties.

D. The Secondary Action property is not configured correctly in the State Transition properties.

Correct Answer: A
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